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𝒚 = 𝑺𝐢𝐧
−𝟏

𝒙

𝒚 = 𝑨𝒓𝒄 𝐬𝐢𝐧 𝒙

𝒚 = 𝑪𝐨𝐬
−𝟏

𝒙

𝒚 = 𝑨𝒓𝒄 𝐜𝐨𝐬 𝒙

𝒚 = 𝑻𝐚𝐧
−𝟏

𝒙

𝒚 = 𝑨𝒓𝒄 𝐭𝐚𝐧 𝒙

−𝟏 ≤ 𝒙 ≤ 𝟏−𝟏 ≤ 𝒙 ≤ 𝟏ℝ

−
𝝅

𝟐
≤ 𝒚 ≤

𝝅

𝟐

−𝟗𝟎° ≤ 𝒚 ≤ 𝟗𝟎

𝟎 ≤ 𝒚 ≤ 𝝅

𝟎° ≤ 𝒚 ≤ 𝟏𝟖𝟎

−
𝝅

𝟐
< 𝒚 <

𝝅

𝟐

−𝟗𝟎° < 𝒚 < 𝟗𝟎°

 

𝒚 = 𝐜𝐨𝐬−𝟏 𝒙𝒚 =  𝑪𝒐𝒔−𝟏𝒙    𝒙 =
𝟏

𝟐

𝒚 = 𝐜𝐨𝐬−𝟏 𝒙

𝒚 = 𝟔𝟎   𝟑𝟎𝟎 

𝒚 = 𝐜𝐨𝐬−𝟏 𝒙

𝒚 =  𝑪𝒐𝒔−𝟏𝒙

𝒚 = 𝟔𝟎

𝒚 = 𝑪𝒐𝒔−𝟏 𝒙

https://ar.wikipedia.org/wiki/%D8%AF%D9%88%D8%A7%D9%84_%D9%85%D8%AB%D9%84%D8%AB%D9%8A%D8%A9
https://ar.wikipedia.org/wiki/%D8%AF%D9%88%D8%A7%D9%84_%D9%85%D8%AB%D9%84%D8%AB%D9%8A%D8%A9
https://youtu.be/PJev-2bPqWU

